5760
3130 l 2630
T
65 6X500=3000 130 5X500=2500 65
O [«
= S
75 S
3
LN
— LN
E—
O
B
A
S
A L
AEOSBE0 AWEOBE0 S
100 || 48 2842 L8| 48 2342 48] 100
192
5768
| 5920 |
80 | 5760 80
©
n
e
O
. o
i =——= ==
T vamRs
VGL

% 3% % M (MB) Hfimm
1 | &8 F12 1.2
2 | HEIES F12 2.3
3 | HEIP F12 1.6
L | HeES F12 1.2+1.6
5 | #HeEs F12 1.6
6 | P F12 12416
7 | S 718 2.3
8 RORBNGEE F12 3.2
9 | #iml Y10 1.6
10 | Hig Y10 16
n | Rx6 Y10 1.0
12 | RoaE F12 2.0+3.2
13 | B F12 2.0+3.2
14 | ROERIR Y10 1.0
15 | FHRAN— F12 2.3
16 | BPAN- Y10 0.7
17 | BEBpR F12 1.6
18 | BE$ F12 16+2.3
19 | BRAXI Y10 0.5
20 | BERBM FBMM)BE- [ RUIFLYIH -4 40
21 | BRIV F12 0.7
22 | EREE Y10 0.7
23 | eRUEI% Y10 0.7
26, | —F—%8 F12 2.3
25| Vv I—(RSv K) 208 0.5
26 | Y+ yva—AN— F12 0.7
21 | Y+vs—=L—J)b PUIZDAASRBIM
F12-5a @y » 2R (JIS G 3302)
Y10-BBER-5%FIVI =D AAED-> FFRIS G 3317)
2082 E o> RIS G 3312)
218> — RS R ATEE IS G 3466)

2660

| 6555
[ 140 | 6275 140
vj\¥¥ | 1000 o,
d""‘jEiii222i22Z2Z22iiiiZiiiié;%;;g%iz;;;;;;;;;;;;iziiziiij
L
=
D
NI >
h]lﬁ% &
&
3

o 12 X

HIES

<HsR> S=1/60

~EER~

GRN—3126-62H

O&E#BEO~T%:2842(2342] x 2118(mm) OFKE#5:36.14m (10.951F)

N"“ #C

L=23

g I B 1E PR




